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II=0[AXTE 28 310,403,447,718] 309,941,651,473| 229,684,872,309
A SO 2016t KA (39,509.043,810)| (20,165.438,196)| 217.378,097,226
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S HSE (105,974,019,323)| (272,707,259,516)| (389,766,987,360)
SO M= 5,182,237,838 1,639,971,307 841,832,057
SN HS (831,653,020) (1,647,907,087) (1,774,235,042)
SN M= 78,694,761 120,218,183 202,272,732
A0 CHst SRR HE 0 0 (7,020,000,000)
SO0l st SRR HE 0 (1,880,000, OOO) 0
SO0l Gist SRR HE 0 116,483
SSEINEANANSENMS HSE 0 (251,852,750) 0
HEIlsSS8NA S (3.400,100,000) (6,555,000) (1,535,000)
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oIxeg=s 2 (59,746,986,284)| 258,640,324,200| (42,130,040,137)
HHJ = 217,905,030,000] 111,705,700,000 0

147,540,000,000

84,480,000,000

330,191,920,000

S PE Y

(557,087,731,997)

(323,029,849,921)

(504,710,682,352)

FI0IN=S32 &8 (219,500,001) 0 0
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HHeEsSXs (22,094,178,860)| (22,470,093,500)| (41,998,014,670)
HIXIBHXI =2 SAST & 83,630,000 0 300,000,000
HBNL=HeHZ elst 0 (5,686,274,460) 0
HBNL=HeHZ elst 0 1,047,600 0
AFEHH XS (22,082,240) (52,574.,640) (55,625,927)
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=98 =S 37,453,282,487| 149,684,726,624| (166,350,670,013)
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Pl == =R 234,430,215,837] 196,976,933,350 47,292,206,726




